Vin

SFiEE L

SF262,SF262E,SF262EX

SF402EX

40

12

213 P16

FR2018.12.06




SFiiE1 = b

E#2021.04.12

HEiE SF262,SF262E,SF262EX,SF402,SF402i & 2 1 7
No mE i = 5
1 9005-1496  [iBFEhyn’ 1
2 9005-1423  [#7" fyn 1
3 9001-5096  [iEBNr-2 1
4 9001-4735  |7yn" 7" L-b 1
5 9001-5110  [SFD#un" 7° L-bL4O 1
6 9001-5118  [#&®NA7" V09 & 1
7 9001-5116  [#&®NA7° V09" & 1
8 9001-4754  [y)4Rn" % 4
9 9001-4755 [#REN4RA" % 4
10 9001-5120  [SF-DEE&hm 1
11 9001-4758 [#R®17 ny) 2
12 9001-4765 [A" 7Yv4" 6001722 2
13 9001-5127  [A" 7Yv4" 600022 2
14 9001-5125  [SF-DA" 7Yuh" -2 2
15 9001-5322 [SFER®EH7 -1 1
16 9005-1420 [SF262i&i@r4v H 1
17 9005-1421 [SF262i&i&r4v1 % 1
18 9005-1424  [SF262%-4hn" - 1
19 9001-4786  |A4vb Y+ B4 3
20 9001-5148  |SF-DEA&i#mh 1
21 9005-1500 |ZA&RYYY 1
22 9001-5153  [SF-Dyvyin 4 1
23 9001-4807  [SF-DEE&i+y b 1
24 9001-5157  [SF-Dakyn’ 1
25 9005-0223  |7° 5vERERS 1) 1
26 9001-5163  [#7" kyn" EE 4R 1
27 9001-4865  |SF-Dyvy4- 1
28 9001-5165  [SF-Da1° L4l 1
29 9001-5166  |SF-Da" AsL3E x 1
30 9001-5168  |37° vy sEE7-LH 1
31 9001-5170  |7° vy EENT7-LE 1
32 9001-5323  |SFE-47° -1 1
33 9001-5179  [SF-D3LA" W b4 x 5951 (F9) 1
34 9001-4819  [60Hz:E-427° 0y M1TD 10 1 SF262, SF262E, SF402
¥ 9005-0311  [50Hz:E-447° 0y 2T D10 (1) |SF262, SF262E, SF402
% 9001-2873  [60Hz:SFE-427° afyM1TD 12 1 SF262EX. 2018.12. 06 i
¥ 9000-8293  |50Hz:SFE-427" Ny 2T D12 (1) |SF262EX
35 9005-1507  |#&7&€-% [A9R40ADB] 1
36 9005-0241 |45 %-4 [IHF8PF4ON-17] 1 SF262, SF262E, SF402
P 9005-0243  |##5%E-4 [IHFOPF60N-32] (1) |SF262EX
37 9005-0242  [¥" ¥-Ay}" [8HIOFN] 1 SF262, SF262E
P 9005-0244  [+" Ay} [9HIOFN] (1) |SF262EX
% 9005-0310  [¥" ¥-Ay}" [8H60FN] 1 SF402
38 - avTUY - E—AHAAER
39 9001-5369 |#&F&EFvin -A 1
40 9005-1422 |#&i&EFvin -& 1
4 9001-4750 [x7° Yuh" k&L Y 2
42 9001-5172 (a7 Yuh" X Aty 2
43 9000-1725 |EE®H7" y¥a 2
44 9000-7650 [/7°BTM6 x 15 2 [2018.12. 06 %




No mE it B=E 5
45 9000-7516  [V3%+ #AM8 x 336 1

46 9005-1494  |##&Bhkyn 1

47 9001-5021  |¥1v40L#410 1 [2018.12. 065 . 2021.04. 12F &
48 9000-0638  [3-} 7" yyarh3 @ 19 2

49 - E—4—F%— 2 |E—4HESR

50 9004-0199 [« > < 2@ w4 T185-80L 2 |2018.12. 06 &

100 9007-5136  |SF260_L F(=#&fEY-) 1 [SF262, SF262E, SF262EX
PR 9005-1401 |SF400_k F(=#BFE-) (1) [SF402

% 9005-1403 |SFA00IEE % A 7 EF (B8 (1) |SFA021EE %4 4 7, 2018.12. 06 &
101 9007-5138  |#&RS B &&Y-) 1 [2018.12. 065 %

102 9007-5131  |#&RAtUH—EEV-I 1

103 9005-1467  |$&BFEHN V-1 2

104 9004-0091 |PLE:R:EE V- 1

105 9004-0092  |PLEREEEY-I 1

106 9001-5287  [PLFrvin —sEE -1 3

107 9001-5206 |#&iE 281K 1

200 9000-3618 < #&BT+M6 x 20 3P 4

201 9000-1859 [ BT+M6x 12 3P 14 [2018.12. 06 %1

202 - WXk T4 ER TR F oy b - |[E—E AR E W, FEE, Ty
203 9000-1972  [A" 3%y +M4x 8 3P 9

204 9000-8047  |f-n—ty M4 x 6 1 [2018.12. 06 %

205 9000-8041  |F5A4Y" +M6 x 8 10

206 9000-0872  [F52%Y" M4 x 8SUS 1 [2018.12. 065 %

207 9000-1982  |fi-n—ty M6 x 10 2

208 9001-5340  [f-n—-ty M6 x 6t ) 5 2 [2018.12. 065 %

209 9000-1900 |7<£&NTM6 4

210 9000-1299  [fA"33Y" +M4 x 10 2

211 9000-0874  |7<f&NT M4 BS 3

212 9000-8101 7" Yv4" NTM8 2

213 9000-8100  |A7° Yv%" NTM6 12 [2018.12. 06 %7

214 9000-8104 37" vy NTM4 2

215 9000-8016  [UNTM6 2

216 9000-8082  |CYvy” 28 (R ) 2

217 9000-8081 |CYvy” 12 (&hFH) 2

218 9000-8107  |4y" FAMA" 4M8 2

219 9000-8106 |FEEL D8x26%2.3 1

220 9000-1312 |FEELDP6x13x1.0 19 [2018.12. 06 &

221 9005-0201 |FEELD6x18%1.0 6 |2018.12. 067

222 9000-0526  |i&7yY+ ©4SUS 1

223 9000-3612  |7<fABT+M6 x 12 2

224 9000-8010 [ #&BT+M6x 12 2P 4

225 9000-1975 [ #BT+M6 x 15 3P 2 [2018.12. 06 %

226 9001-4131  [f-n—ty M6 x 8 1 [2018.12. 065 %




